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1. [bookmark: _Toc122434485][bookmark: _Toc54888060]Overview
This document lists all the essential changes needed to correct problems in the TTCN implementation of test case 8.1.6.1.2.2 which is part of the NR5GC test suite. 
With these changes applied the test case can be demonstrated to run with one or more UEs (see section 4). Execution log files are provided as evidence. 
[bookmark: _Hlk90298041]Contact:	Kalahasti, Narendra
	Narendra.Kalahasti@anritsu.com
0. [bookmark: _Toc54888061]Verification Test Summary 
Test Case: 	8.1.6.1.2.2
ATS Version:	iwd-TTCN3-B2020-09_D21wk49
System Simulator used:	Anritsu Protocol Conformance Test System ME7834NR,
UE used:	Mediatek MT6983
Verification Status:	PASS

1. [bookmark: _Toc122434488][bookmark: _Toc295288959][bookmark: _Toc54888062]Corrections required
1. [bookmark: _Toc97137454]Change 1
	Function name
	function f_TC_8_1_6_1_2_2_NR5GC_TestBody()

	Reason for change
	1. As per TS38.523-1, suitable neighbour inter-frequency cell power should be applied. NR Cell 3 power should be set to be measured as neighbour cell before UE starts measurment.
2. UE use SRB2 when it will be having logMeasReport_r16 as per 38.331 cl 5.7.10.3 at step 9 and 11.
3. As per R5-221558, Modified if condition to match for the first entry of neighbour NR Cell 3 on LogMeasInfoList at step9 and step11.
4. As per R5-221558,UE can include any or omit for logMeasAvaiable at step11. As UE may sent all measurement entries in just 2 UEinformationResponse. 
5. As per R5-221558,Added if condition at end to check 520 or more entries of LogMeasInfoList (according to step3) at step 9 and step 11 as well as to check neighbour cell 3 entry.

	Summary of change
	1. Updated NR cell3 power with -99dbm.
2. Updated RRC reception using SRB2.
3. Adjusted variables and condition to match first entry of NR Cell 3.
4. Modified logMeasAvailable entry as any or omit inteased any.
5. Please see below for more details.

	TTCN module
	RRC_MDT_IntraNR_Logged_NR5GC.ttcn

	MCC160 Comment
	



Before Change
	function f_TC_8_1_6_1_2_2_NR5GC_TestBody() runs on NR5GC_PTC
  {
    var PLMN_Identity v_PlmnID_NRCell1 := f_NR_CellInfo_GetPLMN (nr_Cell1);
    var CellIdentity v_CellIdentity_NRCell1 := f_NR_CellInfo_GetCellIdentity(nr_Cell1);
    var TrackingAreaCode v_TAC_NRCell1 := f_NR_CellInfo_GetTAC (nr_Cell1);
    var ARFCN_ValueNR v_NRf_SSB_NRCell3 := f_NR_CellInfo_GetFrequencySSB(nr_Cell3);
    var PhysCellId v_PhysCellId_NRCell3  := f_NR_CellInfo_GetPhysicalCellId(nr_Cell3);
    var AbsoluteTimeInfo_r16 v_AbsoluteTimeInfo_r16 := f_MDT_GetAbsolute_TimeStamp();
    var template (present) MeasQuantityResults v_MeasQuantityResults;
    var template(present) LogMeasInfo_r16 v_LogMeasInfo_r16;
    var NR_SRB_COMMON_IND v_ReceivedAsp;
    var integer v_FieldCnt;
    var integer i;
    var float v_WaitToLogging := 300.0;

    //@siclog "Step 1" siclog@
    // SS transmits a LoggedMeasurementConfigurationmessage with loggingInterval is set to 320ms to configure the UE to perform logging of measurement results while in RRC_INACTIVE.
    SRB.send(cas_NR_SRB1_RrcPdu_REQ(nr_Cell1,
                                    -,
                                    cs_38508_LoggedMeasurementConfiguration(v_PlmnID_NRCell1,
                                                                            v_AbsoluteTimeInfo_r16,
                                                                            cs_LoggedMeasurementConfiguration_reportType_Periodical(ms320))));

    //@siclog "Step 2" siclog@
    //The SS transmits an RRCRelease message.
    f_NR_RRC_InactiveDef(nr_Cell1);

    //@siclog "Step 3" siclog@
    //Wait 5 minutes to allow UE to activate logging
    f_Delay(v_WaitToLogging);

    //@siclog "Step 4" siclog@
    //The SS transmits a Paging message including a matched identity (correct fullI-RNTI).
    f_NR_Paging_Def(nr_Cell1, RRC_INACTIVE);

    //@siclog "Step 5" siclog@
    //The UE transmit an RRCResumeRequest message by setting resumeIdentity to the stored shortI-RNTI value.
    SRB.receive(car_NR_SRB0_RrcPdu_IND(nr_Cell1, cr_38508_RRCResumeRequest(tsc_NR_ShortI_RNTI_Value1, mt_Access)));

    //@siclog "Step 6" siclog@
    //The SS transmits an RRCResume message.
    f_NR_SendRRCResume_Def(nr_Cell1);

    //@siclog "Step 7" siclog@
    //Check: Does the UE include the IE logMeasAvailable in the RRCResumeComplete message?
    f_NR_RRCResumeComplete_Def(nr_Cell1,cr_RRCResumeComplete);
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.1.6.1.2.2 Step 7");
   
    //@siclog "Step 8" siclog@
    //The SS transmits a UEInformationRequest message on Cell 1.
    SRB.send(cas_NR_SRB1_RrcPdu_REQ(nr_Cell1,
                                    -,
                                    cs_NR_UEInformationRequest_LOG));

    //@siclog "Step 9" siclog@
    //Check: Does the UE transmit a UEInformationResponse message with a LogMeasInfoList with at least one neighbouring cell measurement of Cell 3 and the logMeasAvailable IE?
    v_MeasQuantityResults := f_NR_Get_MeasQuantityResults();
    SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1,
                                       cr_38508_UEInformationResponse(tsc_NR_RRC_TI_Def, -,-,
                                                                      cr_LogMeasReport_r16(v_AbsoluteTimeInfo_r16,
                                                                                           cr_TraceReference_r16(v_PlmnID_NRCell1),
                                                                                           '001A'O,
                                                                                           '05'O,
                                                                                           ?,//check later
                                                                                           true_,omit,omit
                                                                                           )))) -> value v_ReceivedAsp;

    v_FieldCnt := lengthof(v_ReceivedAsp.Signalling.Rrc.Dcch.message_.messageClassExtension.c2.ueInformationResponse_r16.criticalExtensions.ueInformationResponse_r16.logMeasReport_r16.logMeasInfoList_r16);
    if (v_FieldCnt < 520) {
       f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 9: Not enough LogMeasurementInfo entries")
    }

    for (i:=0; i<v_FieldCnt; i:=i+1) {

      v_LogMeasInfo_r16 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.messageClassExtension.c2.ueInformationResponse_r16.criticalExtensions.ueInformationResponse_r16.logMeasReport_r16.logMeasInfoList_r16[i];
      if (not match(valueof(v_LogMeasInfo_r16), cr_LogMeasInfo_r16(-,
                                                                  cr_CGI_Info_Logging_r16(v_PlmnID_NRCell1, v_CellIdentity_NRCell1, v_TAC_NRCell1),
                                                                  cr_MeasResultServCell_r16(v_MeasQuantityResults),
                                                                  {cr_MeasResultLogging2NR_r16(v_NRf_SSB_NRCell3,
                                                                                              {cr_MeasResultLoggingNR_r16(v_PhysCellId_NRCell3,
                                                                                                                          v_MeasQuantityResults)})},
                                                                  omit)))
      {
        f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 9: Contents of LogMeasurementInfo is not correct");
      }
      
    }
    f_NR_PreliminaryPass(__FILE__, __LINE__, "step9");

    //@siclog "Step 10" siclog@
    //The SS send an UEInformationRequest message to get logMeasReport.
    SRB.send(cas_NR_SRB1_RrcPdu_REQ(nr_Cell1,
                                    -,
                                    cs_NR_UEInformationRequest_LOG));

    //@siclog "Step 11" siclog@
    //The UE sends an UEInformationResponse message include logMeasReport.
    SRB.receive(car_NR_SRB1_RrcPdu_IND(nr_Cell1,
                                       cr_38508_UEInformationResponse(tsc_NR_RRC_TI_Def, -,-,
                                                                      cr_LogMeasReport_r16(v_AbsoluteTimeInfo_r16,
                                                                                           cr_TraceReference_r16(v_PlmnID_NRCell1),
                                                                                           '001A'O,
                                                                                           '05'O,
                                                                                           ?,//check later
                                                                                           ?,omit,omit
                                                                                           ))));

    v_FieldCnt := lengthof(v_ReceivedAsp.Signalling.Rrc.Dcch.message_.messageClassExtension.c2.ueInformationResponse_r16.criticalExtensions.ueInformationResponse_r16.logMeasReport_r16.logMeasInfoList_r16);
    if (v_FieldCnt < 520) {
       f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 9: Not enough LogMeasurementInfo entries")
    }

    for (i:=0; i<v_FieldCnt; i:=i+1) {

      v_LogMeasInfo_r16 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.messageClassExtension.c2.ueInformationResponse_r16.criticalExtensions.ueInformationResponse_r16.logMeasReport_r16.logMeasInfoList_r16[i];
      if (not match(valueof(v_LogMeasInfo_r16), cr_LogMeasInfo_r16(-,
                                                                  cr_CGI_Info_Logging_r16(v_PlmnID_NRCell1, v_CellIdentity_NRCell1, v_TAC_NRCell1),
                                                                  cr_MeasResultServCell_r16(v_MeasQuantityResults),
                                                                  {cr_MeasResultLogging2NR_r16(v_NRf_SSB_NRCell3,
                                                                                              {cr_MeasResultLoggingNR_r16(v_PhysCellId_NRCell3,
                                                                                                                          v_MeasQuantityResults)})},
                                                                  omit)))
      {
        f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 11: Contents of LogMeasurementInfo is not correct");
      }
      
    }

  }//end of f_TC_8_1_6_1_2_2_NR5GC_TestBody



After Change
	function f_TC_8_1_6_1_2_2_NR5GC_TestBody() runs on NR5GC_PTC
  {
    var PLMN_Identity v_PlmnID_NRCell1 := f_NR_CellInfo_GetPLMN (nr_Cell1);
    var CellIdentity v_CellIdentity_NRCell1 := f_NR_CellInfo_GetCellIdentity(nr_Cell1);
    var TrackingAreaCode v_TAC_NRCell1 := f_NR_CellInfo_GetTAC (nr_Cell1);
    var ARFCN_ValueNR v_NRf_SSB_NRCell3 := f_NR_CellInfo_GetFrequencySSB(nr_Cell3);
    var PhysCellId v_PhysCellId_NRCell3  := f_NR_CellInfo_GetPhysicalCellId(nr_Cell3);
    var AbsoluteTimeInfo_r16 v_AbsoluteTimeInfo_r16 := f_MDT_GetAbsolute_TimeStamp();
    var template (present) MeasQuantityResults v_MeasQuantityResults;
    var template(present) LogMeasInfo_r16 v_LogMeasInfo_r16;
    var NR_SRB_COMMON_IND v_ReceivedAsp;
    var integer v_FieldCnt_step9;
    var integer v_FieldCnt_step11;
    var integer i;
    var float v_WaitToLogging := 300.0;
    var boolean v_Match := false;
    f_NR_SetCellPower (nr_Cell3, -99, -99);
    //@siclog "Step 1" siclog@
    // SS transmits a LoggedMeasurementConfigurationmessage with loggingInterval is set to 320ms to configure the UE to perform logging of measurement results while in RRC_INACTIVE.
    SRB.send(cas_NR_SRB1_RrcPdu_REQ(nr_Cell1,
                                    -,
                                    cs_38508_LoggedMeasurementConfiguration(v_PlmnID_NRCell1,
                                                                            v_AbsoluteTimeInfo_r16,
                                                                            cs_LoggedMeasurementConfiguration_reportType_Periodical(ms320))));

    //@siclog "Step 2" siclog@
    //The SS transmits an RRCRelease message.
    f_NR_RRC_InactiveDef(nr_Cell1);

    //@siclog "Step 3" siclog@
    //Wait 5 minutes to allow UE to activate logging
    f_Delay(v_WaitToLogging);

    //@siclog "Step 4" siclog@
    //The SS transmits a Paging message including a matched identity (correct fullI-RNTI).
    f_NR_Paging_Def(nr_Cell1, RRC_INACTIVE);

    //@siclog "Step 5" siclog@
    //The UE transmit an RRCResumeRequest message by setting resumeIdentity to the stored shortI-RNTI value.
    SRB.receive(car_NR_SRB0_RrcPdu_IND(nr_Cell1, cr_38508_RRCResumeRequest(tsc_NR_ShortI_RNTI_Value1, mt_Access)));

    //@siclog "Step 6" siclog@
    //The SS transmits an RRCResume message.
    f_NR_SendRRCResume_Def(nr_Cell1);

    //@siclog "Step 7" siclog@
    //Check: Does the UE include the IE logMeasAvailable in the RRCResumeComplete message?
    f_NR_RRCResumeComplete_Def(nr_Cell1,cr_RRCResumeComplete);
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.1.6.1.2.2 Step 7");
   
    //@siclog "Step 8" siclog@
    //The SS transmits a UEInformationRequest message on Cell 1.
    SRB.send(cas_NR_SRB1_RrcPdu_REQ(nr_Cell1,
                                    -,
                                    cs_NR_UEInformationRequest_LOG));

    //@siclog "Step 9" siclog@
    //Check: Does the UE transmit a UEInformationResponse message with a LogMeasInfoList with at least one neighbouring cell measurement of Cell 3 and the logMeasAvailable IE?
    v_MeasQuantityResults := f_NR_Get_MeasQuantityResults();
    SRB.receive(car_NR_SRB_RrcPdu_IND(nr_Cell1,tsc_NR_RbId_SRB2,
                                       cr_38508_UEInformationResponse(tsc_NR_RRC_TI_Def, -,-,
                                                                      cr_LogMeasReport_r16(v_AbsoluteTimeInfo_r16,
                                                                                           cr_TraceReference_r16(v_PlmnID_NRCell1),
                                                                                           '001A'O,
                                                                                           '05'O,
                                                                                           ?,//check later
                                                                                           true_,omit,omit
                                                                                           )))) -> value v_ReceivedAsp;

    v_FieldCnt_step9 := lengthof(v_ReceivedAsp.Signalling.Rrc.Dcch.message_.messageClassExtension.c2.ueInformationResponse_r16.criticalExtensions.ueInformationResponse_r16.logMeasReport_r16.logMeasInfoList_r16);
    /*if (v_FieldCnt < 520) {
       f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 9: Not enough LogMeasurementInfo entries")
    }*/

    for (i:=0; i<v_FieldCnt_step9; i:=i+1) {

      v_LogMeasInfo_r16 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.messageClassExtension.c2.ueInformationResponse_r16.criticalExtensions.ueInformationResponse_r16.logMeasReport_r16.logMeasInfoList_r16[i];
      if (match(valueof(v_LogMeasInfo_r16), cr_LogMeasInfo_r16(-,
                                                                  cr_CGI_Info_Logging_r16(v_PlmnID_NRCell1, v_CellIdentity_NRCell1, v_TAC_NRCell1),
                                                                  cr_MeasResultServCell_r16(v_MeasQuantityResults),
                                                                  {cr_MeasResultLogging2NR_r16(v_NRf_SSB_NRCell3,
                                                                                              {cr_MeasResultLoggingNR_r16(v_PhysCellId_NRCell3,
                                                                                                                          v_MeasQuantityResults)})},
                                                                  omit)))
      {
        //f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 9: Contents of LogMeasurementInfo is not correct");
        v_Match := true;
        break;         
      }
      
    }
    f_NR_PreliminaryPass(__FILE__, __LINE__, "step9");

    //@siclog "Step 10" siclog@
    //The SS send an UEInformationRequest message to get logMeasReport.
    SRB.send(cas_NR_SRB1_RrcPdu_REQ(nr_Cell1,
                                    -,
                                    cs_NR_UEInformationRequest_LOG));

    //@siclog "Step 11" siclog@
    //The UE sends an UEInformationResponse message include logMeasReport.
    SRB.receive(car_NR_SRB_RrcPdu_IND(nr_Cell1,tsc_NR_RbId_SRB2,
                                       cr_38508_UEInformationResponse(tsc_NR_RRC_TI_Def, -,-,
                                                                      cr_LogMeasReport_r16(v_AbsoluteTimeInfo_r16,
                                                                                           cr_TraceReference_r16(v_PlmnID_NRCell1),
                                                                                           '001A'O,
                                                                                           '05'O,
                                                                                           ?,//check later
                                                                                           *,omit,omit
                                                                                           ))));

    v_FieldCnt_step11 := lengthof(v_ReceivedAsp.Signalling.Rrc.Dcch.message_.messageClassExtension.c2.ueInformationResponse_r16.criticalExtensions.ueInformationResponse_r16.logMeasReport_r16.logMeasInfoList_r16);

    for (i:=0; i<v_FieldCnt_step11; i:=i+1) {

      v_LogMeasInfo_r16 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.messageClassExtension.c2.ueInformationResponse_r16.criticalExtensions.ueInformationResponse_r16.logMeasReport_r16.logMeasInfoList_r16[i];
      if (match(valueof(v_LogMeasInfo_r16), cr_LogMeasInfo_r16(-,
                                                                  cr_CGI_Info_Logging_r16(v_PlmnID_NRCell1, v_CellIdentity_NRCell1, v_TAC_NRCell1),
                                                                  cr_MeasResultServCell_r16(v_MeasQuantityResults),
                                                                  {cr_MeasResultLogging2NR_r16(v_NRf_SSB_NRCell3,
                                                                                              {cr_MeasResultLoggingNR_r16(v_PhysCellId_NRCell3,
                                                                                                                          v_MeasQuantityResults)})},
                                                                  omit)))
      {
        //f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 11: Contents of LogMeasurementInfo is not correct");
        v_Match := true;
        break;
      }
      
    }
    if (((v_FieldCnt_step11 + v_FieldCnt_step9) > 519 and v_Match == true)) {
      f_NR_PreliminaryPass(__FILE__, __LINE__, "step9 and 11: enough entries found with at least one neighbouring cell measurement of Cell 3 ")
    }
    else{
       f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 9 and 11: Not enough LogMeasurementInfo entries")
    }

  }//end of f_TC_8_1_6_1_2_2_NR5GC_TestBody




1. [bookmark: _Toc122434493][bookmark: _Toc295288970][bookmark: _Toc325725665][bookmark: _Toc54888065]Branches executed 
On Anritsu, the test case was executed on NR band n78 using NR ciphering nea2 and integrity algorithm nia2.
1. [bookmark: _Toc122434494][bookmark: _Toc295288971][bookmark: _Toc325725666][bookmark: _Toc54888066]Execution Log Files 
3.1 [bookmark: _Toc97137458]Mediatek MT6983
[bookmark: _Hlk90552893]The Mediatek MT6983 UE passed this test case on Anritsu Protocol Conformance Test System ME7834NR. The documentation below is enclosed as evidence of the successful test case run [1]:
· Test case execution log file:
Anritsu\ TC_8_1_6_1_2_2_LOG.xml
· PICS/PIXIT parameter file:
Anritsu\ TC_8_1_6_1_2_2_PIXIT.txt


1. [bookmark: _Toc122434496][bookmark: _Toc295288973][bookmark: _Toc325725668][bookmark: _Toc54888068]References 
	[1]
	R5s220463 - Supporting information for addition of NR5GC Logged MDT test case  8.1.6.1.2.2





